


PARCHEGGIO PD1 



Progetto: 
sezione 1     progr. 22,50 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  110.40            110.10                                 |       0.00                      110.40      110.10 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               110.40             110.10                                 |       0.00 t                    110.40       110.10 
              22.25                                                 6.67             |                     22.25                                          6.67 
22.25 t              111.10           110.80                                  |       22.25 t                  110.18       109.88 
              0.00                                                   0.00             |                     0.00                                            0.00 
22.25 p             110.10           111.10                                  |       22.25 p                 110.18       110.18 
              0.00                                                   0.00             |                     0.00                                             0.00 
                                                                                            | 
                                                                                            | 
                                totale areadi scavo    =    6.67            +      6.67   =         13.34 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezzarivest. Veg   =    0.00           +       0.00   =         0.00 
                             larghezza occupazione=  22.25           +       22.25   =       44.50 



 
Progetto: 

 
                                                                sezioni      1-2                dist. Parz. 13.60 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                6.67           7.45           95.89            0.00                 |                     6.67              7.42         165.50 
22.25                                                                                        |    22.25            
                 0.00          0.03           0.33              0.00                 |                       0.00            0.03            0.33           0 00 
                                                                                                 |     
                                                                                                 | 
                                                                                                 | 
                            totale volume scavo          =      96.22         +   165.83       =        262.05 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      262.05 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      262.05 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione     =                 306.34  +     305.66  =       612.00 
                                                                                                 |       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =         306.34  +   305.66  =       612.00 



Progetto: 
sezione 2     progr. 13.60 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  110.55            110.30                                 |       0.00                      110.55      110.30 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               110.55             110.30                                 |       0.00 t                    110.55       110.30 
              22.25                                                 7.45             |                     22.25                                          7.42 
22.25 t              111.14           110.72                                  |       22.25 t                  110.22       109.80 
              0.00                                                   0.00             |                     0.00                                            0.00 
22.25 p             111.14           111.02                                  |       22.25 p                 110.22       110.10 
              0.55                                                   0.03             |                     0.45                                             0.03 
 22.80 p             111.14           111.14                                 |       22.70 p                 110.22       110.22 
              0.00                                                   0.00             |                     0.00                                             0.00 
                                                                                           | 
                                                                                            | 
                                totale area di scavo    =    7.48           +      7.45   =         14.93 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezza rivest. Veg   =    0.00          +       0.00   =         0.00 
                             larghezza occupazione=  22.80           +       22.70   =       45.50 



Progetto: 
 

                                                                sezioni      2-3                dist. Parz. 8.25 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                7.45           6.98           59.52            0.00                 |                     7.42              5.56        53.54 
8.20                                                                                          |    8.20           | 
                0.03           0.00           0.13             0.00                  |                     0.03              0.00           0.13 
8.20                                                                                          |    8.20            
                                                                                           | 
                            totale volume scavo          =      59.65         +   53.67       =        113.32 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      375.37 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      375.37 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione     =                 191.61  +    185.41  =       377.02 
                                                                                                 |       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =         497.95  +   491.07  =       989.02 



Progetto: 
sezione 3     progr. 13.60 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  110.76            110.45                                 |       0.00                      110.76      110.45 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               110.76             110.45                                 |       0.00 t                    110.76       110.45 
              23.65                                                 6.98             |                     22.25                                          5.56 
23.65 t              111.50           111.22                                  |       22.25 t                  110.45       110.26 
              0.00                                                   0.00             |                     0.00                                            0.00 
22.25 p             111.50           111.52                                  |       22.25 p                 110.45       110.56 
                                                                                           | 
                                                                                            | 
                                totale area di scavo    =    6.98           +      5.56   =         12.54 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezza rivest. Veg   =    0.00          +       0.00   =         0.00 
                             larghezza occupazione=  22.25           +       22.25   =       44.50 



Progetto: 
 

                                                                sezioni      3-4                dist. Parz. 5.25 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                6.98           11.65           59.52            48.90             |                     5.56              11.24        45.78 
23.65                                                                                        |    22.25           | 
                0.0           0.30              0.00             0.82                 |                     0.00              0.06           0.16 
0.00                                                                                          |    0.00            
                                                                                                 | 
                            totale volume scavo          =      49.72         +   45.94       =        95.66 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      471.23 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      471.23 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione =                                 +                    =                                                                                                                                
|       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =                      +                   =        



Progetto: 
sezione 4     progr. 27.10 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  111.10            110.54                                 |       0.00                      111.10      110.54 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               111.00             110.54                                 |       0.00 t                    111.10       110.54 
              17.00                                                 11.65           |                     22.25                                          11.24 
17.00 t              111.80           110.99                                  |       22.25 t                  110.60       110.15 
              1.018                                                  0.30             |                     0.76                                            0.06 
22.25 p             111.84           111.29                                  |       22.25 p                 110.54       110.45 
                                                                                           | 
                                                                                            | 
                                totale area di scavo    =    11.95         +      11.30  =         23.25 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezza rivest. Veg   =    0.00          +       0.00   =         0.00 
                             larghezza occupazione=  18.08           +       23.01   =       41.09 



Progetto: 
 

                                                                sezioni      4-5                dist. Parz. 2.50 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                11.65           6.80           23.06            0.000             |                     11.24              11.95        33.63 
2.50                                                                                          |    2.50           | 
                0.30           0.04              0.42             0.00               |                     0.06              0.03           0.11 
0.00                                                                                          |    0.00            
                                                                                                 | 
                            totale volume scavo          =      23.48         +   33.74       =        57.22 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      528.45 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      528.45 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione =                                 +                    =                                                                                                                                
|       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =                      +                   =        



Progetto: 
sezione 5     progr. 29.60 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  111.12            110.61                                 |       0.00                      111.12      110.61 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               111.12             110.61                                 |       0.00 t                    111.12       110.61 
              15.45                                                 6.80           |                     26.55                                          11.95 
15.54 t               111.74           111.37                                  |       26.55 t                  110.55       110.17 
              0.74                                                   0.04             |                     0.92                                            0.03 
16.19 p             111.78           111.67                                  |       27.47 p                 110.54       110.47 
                                                                                           | 
                                                                                            | 
                                totale area di scavo    =    6.84         +      11.98  =         18.82 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezza rivest. Veg   =    0.00          +       0.00   =         0.00 
                             larghezza occupazione=  18.08           +       23.01   =       41.09 



Progetto: 
 

                                                                sezioni      5-6               dist. Parz. 11.50 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                6.80             6.64           77.28            0.000             |                     11.95            8.36        116.78 
11.50                                                                                        |    11.50           | 
                0.04           0.04              0.46             0.00               |                     0.03              0.03           0.11 
0.00                                                                                          |    0.00            
                                                                                                 | 
                            totale volume scavo          =      77.74         +   116.89       =        194.63 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      723.08 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      723.08 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione =                                 +                    =                                                                                                                                
|       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =                      +                   =        



Progetto: 
sezione 6     progr. 41.10 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  111.25            110.82                                 |       0.00                      111.25      110.82 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               111.25             110.82                                 |       0.00 t                    111.25       110.82 
              15.45                                                 6.64           |                     26.55                                            8.36 
15.54 t              111.65           111.22                                  |       26.55 t                  110.53       110.33 
              0.52                                                   0.04             |                     0.00                                            0.00 
16.06 p             111.67           111.52                                  |       0.000 p                 0.0000       0.0000 
                                                                                           | 
                                                                                            | 
                                totale area di scavo    =    6.68         +      8.36  =         15.04 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezza rivest. Veg   =    0.00          +       0.00   =         0.00 
                             larghezza occupazione=  0000             +       0.00   =       0.00 



Progetto: 
 

                                                                sezioni      6-7               dist. Parz112.40 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                6.64             4.64           69.94            0.000             |                     8.36            6.50           92.13 
12.40                                                                                        |    12.40           | 
                0.04           0.00              0.25             0.00               |                     0.00              0.00           0.00 
0.00                                                                                          |    0.00            
                                                                                                 | 
                            totale volume scavo          =      70.19          +   92.13       =        162.32 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      885.40 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      885.40 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione =                                 +                    =                                                                                                                                
|       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =                      +                   =        



Progetto: 
sezione 7     progr. 53.40 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  111.35            111.05                                 |       0.00                      111.35      111.05 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               111.35             111.05                                 |       0.00 t                    111.35       111.05 
              15.45                                                 4.64           |                     26.55                                            6.50 
15.45 t              111.75           111.45                                  |       26.55 t                  110.75       110.56 
                                                                                           | 
                                                                                            | 
                                totale area di scavo    =    4.17         +      6.50  =         10.67 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezza rivest. Veg   =    0.00          +       0.00   =         0.00 
                             larghezza occupazione=  0000             +       0.00   =       0.00 



Progetto: 
 

                                                                sezioni      7-8               dist. Parz1 2.00 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                4.64             1.71           6.35            0.000             |                       6.50            9.70            16.51 
2.00                                                                                          |    2.00           | 
                0.00           0.00              0.25             0.00               |                     0.00              0.21           0.11 
0.00                                                                                          |    0.00            
                                                                                                 | 
                            totale volume scavo          =      6.60           +   16.62       =        23.22 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      908.62 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      908.62 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione =                                 +                    =                                                                                                                                
|       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =                      +                   =        



Progetto: 
sezione 8     progr. 55.40 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  111.40            111.09                                 |       0.00                      111.40      111.09 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               111.40             111.09                                 |       0.00 t                    111.40       111.09 
              5.71                                                     1.71           |                     27.73                                            9.70 
5.71   t              111.53           111.23                                  |       27.73 t                  110.19       110.80 
                 0.00                                                   0.00          |                     061                                                0.21 
0.00   t              0.000           0.00000                                  |       28.34 t                  110.17       110.10 
                                                                                        | 
                                                                                            | 
                                totale area di scavo    =    1.71         +      9.91  =         11.62 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezza rivest. Veg   =    0.00          +       0.00   =         0.00 
                             larghezza occupazione=  0000             +       0.00   =       0.00 



STRADA ST2 



Progetto:std2 
sezione 7     progr. 0.00 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                       118.00       117.95                                 |       0.00                      118.00      117.95 
               0.00                                                  0.00             |                     0.00                                              0.00 
0.00 t                      118.00      117.95                                 |       0.00 t                    118.00       117.95 
              5.00                                                   0.15             |                     5.00                                              1.03 
5.00   t                    117.83      117.82                                  |       5.00 p                   118.18       117.82 
              0.00                                                   0.00             |                     0.00                                              0.00 
5.00                        117.83      117.89                                  |       5.00                    118.18         118.12 
              0.00                                                   0.00             |                     0.06                                              0.00 
5.00   p                    117.83      118.12                                |       5.06 p                   118.18       118.18 
              0.24                                                   -0.04            |                                                                
5.24                        117.82      117.88                                 |                                  
              0.06                                                   0.00             |                                                                
5.31                       117.81      117.81                                  |                                  
                                                                                            | 
                                                                                            | 
                                totale area in scavo    =    0.15           +      1.03   =         1.18 
                                totale area in riporto =    0.04            +      0.00   =         0.04 
                                                                                           | 
                                                                                           | 



Progetto: 
 

                                                                sezioni      7-8                dist. Parz. 20.59 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                0.15           -2.20            0.10             21.20              |                     1.03           -1.30            4.69              7.47 
5.00                                                                                          |    5.00            
                -0.04           -0.22            0.00             2.68              |                     0.00           -0.01            0.00              0.10 
5.31                                                                                          |    5.06            
                0.00           -0.16            0.00             1.65                |                     0.00           -0.29            0.00              2.99 
5.89                                                                                          |    5.68            
                                                                                                 |     
                                                                                                 | 
                                                                                                 | 
                            totale volume scavo          =        0.10         +   4.69       =        4.73 
                            totale volume riporto        =      25.53         +   10.56      =        36.09 
                                                                                                  
                     volume progressivo in scavo                             =      4.73 
                     volume progressivo in riporto                           =      36.09 
                      volume compensato                                          =      31.36 



Progetto:std2 
sezione 8     progr. 20,59 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  117.35            117.68                                 |       0.00                      117.35      117.68 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               117.35             117.68                                 |       0.00 t                    117.35       117.68 
              5.00                                                 -2.20             |                     5.00                                        -1.30 
5.00                 117.13            117.68                                  |       5.00 p                   117.49       117.68 
              0.00                                                   0.00             |                     0.00                                            0.00 
5.00 p              117.13            117.98                                  |       5.00 p                   117.49       117.98 
              0.31                                                 -0.22             |                     0.00                                            0.00 
5.31                 117.12            117.68                                  |       5.00                    117.98       117.98 
              0.58                                                 -0.16             |                     0.06                                          -0.01 
5.89                 117.09            117.09                                  |       5.06                    117.50       117.98 
                                                                                            |                     0.62                                          -0.29 
                                                                                            |       5.68                    117.51       117.98 
                                                                                            | 
                                                                                            | 
                                totale area di scavo    =    0.00            +      0.00   =         0.00 
                                totale area in riporto =    2.58             +      1.60   =         4.18 
                                                                                           | 
                                                                                           | 



Progetto: 
 

                                                                sezioni      8-9                dist. Parz. 21.99 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                -2.58          -4.32         0.00             75.87                 |                 -1.30            -2.75           0.00              44.53 
5.89                                                                                          |    5.00            
                 0.00         -0.03          0.00              0.33                 |                 -0.30            -0.24            0.00                 5.94 
6.14                                                                                          |      5.68 
                                                                                                 | 
                                                                                                 | 
                            totale volume scavo          =        0.00         +      0.00       =        0.00 
                            totale volume riporto        =        76.20       +    50.47          =     126.67 
                                                                                                  
                     volume progressivo in scavo                             =          4.73  
                     volume progressivo in riporto                           =      162.76 
                      volume compensato                                          =      158.03 
                                                                                                 |       
                                                                                                 |  



Progetto:std2 
sezione 9     progr. 42.58 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  116.72            117.40                                 |       0.00                      116.72      117.40 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               116.72             117.40                                 |       0.00 t                    116.72       117.40 
              5.00                                                 -3.73             |                     5.00                                          -2.75 
5.00   p            116.59             117.40                                 |       5.00 p                   116.98       117.40 
              0.00                                                   0.00             |                     0.00                                            0.00 
5.00                 116.59            117.53                                  |       5.00                    116.98       117.70 
              0.00                                                   0.00             |                     0.36                                          -0.19 
5.00                 116.59            117.70                                  |       5.36                    117.00       117.34 
              0.17                                                 -0.17              |                     0.32                                          -0,05 
5.17                 116.59            117.53                                  |       5.68                    117.02       117.02 
              0.72                                                -0.42               |   
5.89                 116.57            116.81                                  |      
              0.25                                                 -0.03             |      
6.14                 116.56            116.56                                  |      
                                                                                            | 
                                                                                            | 
                                totale areadi scavo    =    0.00            +      0.00   =         0.00 
                                totale area in riporto =    4.35            +      2.99   =         7.34 
                                                                                           | 
                                                                                           | 



Progetto: 
 

                                                                sezioni      9-10                dist. Parz. 21.99 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
              -3.73           1.07            2.62             31.87               |                   - 2.99           1.50           5.51              21.89 
5.00                                                                                          |    5.68            
               -0.17         -0.01           0.00              1.98                 |         
5.17                                                                                          |     
               -0.45           0.00           0.00              4.95                | 
6.14                                                                                          | 
                            totale volume scavo          =        2.62         +     5.51       =        8.13 
                            totale volume riporto          =      38.80       +   21.89       =       60.69 
                                                                                                  
                     volume progressivo in scavo                             =         12.86 
                     volume progressivo in riporto                           =       223.45 
                      volume compensato                                          =       210.59 
                                                                                                 |       
                                                                                                 |  



Progetto:std2 
sezione 10     progr. 64.57 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  117.42            117.12                                 |       0.00                      117.42      117.12 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               117.42             117.12                                 |       0.00 t                    117.42       117.12 
              5.00                                                   1.07             |                     5.00                                          1.50 
5.00   p              117.25           117.12                                  |       5.00                    117.42       117.12 
              0.00                                                   0.00             |  
5.00                 117.25            117.25                                  |  
              0.00                                                   0.00             |     
5.00 p              117.25            117.42                                  |     
              0.17                                                 -0.01              |    
5.17                 117.25            117.25                                  |    
                                                                                            | 
                                                                                            | 
                                totale area di scavo    =    1.07            +      1.50   =         2.57 
                                totale area in riporto =    0.01            +      0.00   =         0.01 
                                                                                           | 
                                                                                           | 



STRADA ST5 



Progetto:std5 
sezione 1     progr. 0.00 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  121.37            121.07                                 |       0.00                      121.37      121.07 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               121.37             121.07                                 |       0.00 t                    121.37       121.07 
              4.90                                                   1.10             |                     5.00                                          1.35 
4.90   t              121.22           121.07                                  |       5.00 t                   121.30       121.07 
              0.00                                                   0.00             |                     0.00                                            0.00 
                                                                                            | 
                                                                                            | 
                                totale areadi scavo    =    1.10            +      1.35   =         2.45 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezzarivest. Veg   =    0.00           +       0.00   =         0.00 
                             larghezza occupazione=  0.00             +       0.00   =          0.00 



Progetto: 
 

                                                                sezioni      1-2                dist. Parz. 22.65 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                1.10           1.00            23.78             0.00               |                     1.35              1.40           31.14 
22.65                                                                                        |    22.65            
                 0.00          0.00           0.00              0.00                 |                       0.00            0.00            0.00           0 00 
                                                                                                 |     
                                                                                                 | 
                                                                                                 | 
                            totale volume scavo          =        23.78         +  31.14       =        54.92 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      54.92 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      54.92 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione     =                   0.00    +      0.00  =             0.00 
                                                                                                 |       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =         0.00     +        0.00     =          0.00 



Progetto:std5 
sezione 2     progr. 22,50 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  121.91            121.66                                 |       0.00                      121.91      121.66 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               121.91             121.66                                 |       0.00 t                    121.91       121.66 
              4.85                                                   1.00             |                     5.00                                          1.40 
4.85   t              121.82           121.66                                  |       5.00 t                   121.96       121.66 
              0.00                                                   0.00             |                     0.00                                            0.00 
                                                                                            | 
                                                                                            | 
                                totale areadi scavo    =    1.00            +      1.40   =         2.40 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezzarivest. Veg   =    0.00           +       0.00   =         0.00 
                             larghezza occupazione=  0.00             +       0.00   =          0.00 



Progetto: 
 

                                                                sezioni      2-3                dist. Parz. 14.50 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                1.00           1.15            15.66             0.00                 |                     1.40              1.50           21.03 
14.50                                                                                        |    14.50            
                 0.00          0.00           0.00              0.00                 |                       0.00            0.00            0.00           0 00 
                                                                                                 |     
                                                                                                 | 
                                                                                                 | 
                            totale volume scavo          =        15.66       +   21.03       =        36.69 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      91.61 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      91.61 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione     =                   0.00    +      0.00  =             0.00 
                                                                                                 |       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =         0.00     +        0.00     =          0.00 



Progetto:std5 
sezione 3     progr. 37.15 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  122.35            122.05                                 |       0.00                      122.35      122.05 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               122.35             122.05                                 |       0.00 t                    122.35       122.05 
              4.97                                                   1.15             |                     5.00                                          1.50 
4.97   t              122.22           122.05                                  |       5.00 t                   122.35       121.05 
              0.00                                                   0.00             |                     0.00                                            0.00 
                                                                                            | 
                                                                                            | 
                                totale areadi scavo    =    1.15            +      1.50   =         2.65 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezzarivest. Veg   =    0.00           +       0.00   =         0.00 
                             larghezza occupazione=  0.00             +       0.00   =          0.00 



Progetto: 
 

                                                                sezioni      3-4                dist. Parz. 8.20 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                1.15           1.35            10.25             0.00               |                     1.50              1.35           11.69 
8.20                                                                                          |    8.20            
                 0.00          0.00           0.00              0.00                 |                       0.00            0.00            0.00           0 00 
                                                                                                 |     
                                                                                                 | 
                                                                                                 | 
                            totale volume scavo          =        10.25       +   11.69       =        21.94 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      113.55 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      113.55 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione     =                   0.00    +      0.00  =             0.00 
                                                                                                 |       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =         0.00     +        0.00     =          0.00 



Progetto:std5 
sezione 4     progr. 45.35 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  122.73            122.49                                 |       0.00                      122.73      122.49 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               122.77             122.49                                 |       0.00 t                    122.73       122.49 
              4.65                                                   1.35             |                     5.00                                          1.35 
4.65   t              122.79           122.49                                  |       5.00 t                   122.79       121.49 
              0.00                                                   0.00             |                     0.00                                            0.00 
                                                                                            | 
                                                                                            | 
                                totale areadi scavo    =    1.35            +      1.35   =         2.70 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezzarivest. Veg   =    0.00           +       0.00   =         0.00 
                             larghezza occupazione=  0.00             +       0.00   =          0.00 



Progetto: 
 

                                                                sezioni      4-5                dist. Parz. 8.20 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                1.35           2.05            13.94             0.00               |                     1.35              2.08           14.06 
8.20                                                                                          |    8.20            
                 0.00          0.02           0.08              0.00                 |                       0.00            0.15            0.61           0 00 
                                                                                                 |     
                                                                                                 | 
                                                                                                 | 
                            totale volume scavo          =        14.02       +   14.67       =        28.69 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      142.24 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      142.24 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione     =                   0.00    +      0.00  =             0.00 
                                                                                                 |       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =         0.00     +        0.00     =          0.00 



Progetto:std5 
sezione 5     progr. 53.55 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  123.36            122.95                                 |       0.00                      123.36      122.95 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               123.36             122.95                                 |       0.00 t                    123.36       122.95 
              4.55                                                   2.05             |                     4.30                                          2.08 
4.55   t              123.40           122.95                                  |       4.30 t                   123.50        122.95 
              0.30                                                   0.02             |                     0.98                                           0.15 
5.30   t              123.36           123.25                                  |       4.88 t                   123.55        123.25 
          0.00                                                       0.00             |                     0.00                                            0.00 
                                                                                            | 
                                                                                            | 
                                totale areadi scavo    =    2.07            +      2.23   =         4.30 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezzarivest. Veg   =    0.00           +       0.00   =         0.00 
                             larghezza occupazione=  0.00             +       0.00   =          0.00 



Progetto: 
 

                                                                sezioni      5-6                dist. Parz. 7.74 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                2.05           1.17            13.10             0.00               |                     2.08              1.17          13.23 
8.14                                                                                          |    8.14            
                 0.02          0.10           0.48             0.00                 |                       0.15            0.13            1. 14         0 00 
                                                                                                 |     
                                                                                                 | 
                                                                                                 | 
                            totale volume scavo          =        13.58       +   14.37       =        27.95 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      170.19 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      170.19 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione     =                   0.00    +      0.00  =             0.00 
                                                                                                 |       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =         0.00     +        0.00     =          0.00 



Progetto:std5 
sezione 6     progr. 61.29 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  123.67            123.40                                 |       0.00                      123.67      123.40 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               123.67             123.40                                 |       0.00 t                    123.67       123.40 
              3.50                                                   1.17             |                     3.50                                          1.17 
3.50   t              123.80           123.40                                 |         3.50 t                   123.80        123.40 
              1.00                                                   0.10             |                     1.30                                          1.30 
4.50   t              123.90           123.70                                 |         4.80 t                   123.90        123.70 
          0.00                                                       0.00             |                     0.00                                            0.00 
                                                                                            | 
                                                                                            | 
                                totale areadi scavo    =    1.45            +      1.30   =         2.75 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezzarivest. Veg   =    0.00           +       0.00   =         0.00 
                             larghezza occupazione=  0.00             +       0.00   =          0.00 



Progetto: 
 

                                                                sezioni      6-7                dist. Parz. 14.80 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                1.17           1.52            19.37             0.00               |                     1.17             1.42           18.65 
14.40                                                                                        |    14.40            
                 0.10          0.20              2.16              0.00              |                       0.13            0.07            1.44           0 00 
                                                                                                 |     
                                                                                                 | 
                                                                                                 | 
                            totale volume scavo          =        21.53       +   20.09       =        41.62 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      211.81 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      211.81 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione     =                   0.00    +      0.00  =             0.00 
                                                                                                 |       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =         0.00     +        0.00     =          0.00 



Progetto:std5 
sezione 7     progr. 76.09 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  124.49            124.19                                 |       0.00                      124.49      124.19 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               124.49             124.19                                 |       0.00 t                    124.49       124.19 
              3.50                                                   1.52            |                     3.50                                          1.42 
3.50   t              124.76           124.19                                  |       3.50 t                   124.70       124.19 
              1.24                                                   0.20             |                     0.60                                         0.07 
4.74   t              124.81           124.49                                  |      4.10 t                     124.72       124.49 
       0.00                                                       0.00             |                     0.00                                            0.00 
                                                                                            | 
                                                                                            | 
                                totale areadi scavo    =    1.72           +      1.49   =         3.21 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezzarivest. Veg   =    0.00           +       0.00   =         0.00 
                             larghezza occupazione=  0.00             +       0.00   =          0.00 



Progetto: 
 

                                                                sezioni      7-8                dist. Parz. 14.80 
 

volumi elementari 
-----------------------------------------------SINISTRA------------|------------DESTRA-------------------------------- 
scos          area          area          volume          volume             |   scos.          Area          area          volume          volume 
                 prec.         succ.          Scavo           riporto              |                     prec.          Succ.         Scavo           riporto 
                                                                                                 |                    
                1.52           0.96            18.35            0.000               |                     1.42              0.96           17.61 
14.80                                                                                        |    14.80            
                 0.20          0.00           1.37                 0.00              |                       0.07            0.00              1.04           0 00 
                                                                                                 |     
                                                                                                 | 
                                                                                                 | 
                            totale volume scavo          =        19.72       +   18.65       =        38.37 
                            totale volume riorto          =        0.00         +   0.000          =            0.00 
                                                                                                  
                     volume progressivo in scavo                             =      250.18 
                     volume progressivo in riporto                           =          0.00 
                      volume compensato                                          =      250.28 
                                                                                                 |       
                                                                                                 |  
                      superficie scortico             =                  0.00    +     0.00      =           0.00 
                      superficie rivest. Veg.       =                   0.00   +      0.00     =          0.00 
                      superficie occupazione     =                   0.00    +      0.00  =             0.00 
                                                                                                 |       
                                                                                                 |  
           superficie progressiva scortico             =          0.00    +     0.00      =           0.00 
           superficie progressiva rivest. Veg.       =           0.00   +      0.00     =          0.00 
           superficie progressiva occupazione     =         0.00     +        0.00     =          0.00 



Progetto:std5 
sezione 8     progr. 90.89 

aree elementari 
------------------------------------------sinistra------------------destra---------------------------- 
Scostamenti    Quote      Quote            Aree        |    Scostamenti      Quote    Quote      Aree 
Asse     parz.    Terr.        prog                             |     asse     parz.       Terr.     Prog 
 
0.00                  125.23            124.98                                 |       0.00                      125.23      124.98 
               0.00                                                  0.00             |                     0.00                                            0.00 
0.00 t               125.23             124.98                                 |       0.00 t                    125.23       124.98 
              3.50                                                   0.96             |                     3.50                                          0.96 
3.50   t              125.28           124.98                                  |       3.50 t                    125.28        124.98 
       0.00                                                       0.00             |                     0.00                                            0.00 
                                                                                            | 
                                                                                            | 
                                totale areadi scavo    =    0.96            +      0.96   =         1.92 
                                totale area in riporto =    0.00            +      0.00   =         0.00 
                                                                                           | 
                                                                                           | 
                              larghezza scortico      =    0.00            +       0.00   =         0.00 
                              larghezzarivest. Veg   =    0.00           +       0.00   =         0.00 
                             larghezza occupazione=  0.00             +       0.00   =          0.00 
 


